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Candidates are required to give their answers in their

own words as far as practicable.

1. Answer any ten questions: 2x10=20
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a)

b)

d)

Define Say's Law of markets.
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What do you mean by voluntary

unemployment?
Afoes Fi2Te! I F @R
What is Fishers' equation?
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What do you mean by repo and reverse repo

rate?
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What is accelerator?

o 5 e

What is credit rationing?
AT AT FICF =1 2
Define MEC and MEI.
MEC @k MEI-49 gesl wie |
What is perfect foresight?
s Emiiol I AT 2

'"Velocity of money is a residual factor'— is this

statement true?
LA (@6 G TRE el — G 7@l [F
oy 2

'An increase in bank rate reduces the liquidity
of the economy'— Do you agree with this

statement?
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What is natural rate of growth?
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Mention two characteristics of Keynesian

consumption function.
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How does 'real balance effect' influence IS and
LM curves?
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What do you mean by Ricardian equivalence?

RIS ere! Tce & @Rl e
What is 'LAF'?
LAF ¢

Answer any four questions: 5x4=20
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a)

b)
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Make a short note on neutrality of money in

the classical model.
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When and how does crowding out effect arise

in an economy?
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If involuntary unemployment is incorporated

in the classical model, what will be the shape

of short-run aggregate supply curve?
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What do you mean by 'golden rule of

accumulation'?
e TR Feffenl R F@TCs 6 (AR 2

'"The classical theory of money demand is an

implicit theory'— explain it.
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'If some assumptions of Harrod growth model
are modified, knife-edge instability problem
can be avoided.'- is it true? Give reasons for

your anSwer.
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What is money demand? Why is money
considered as inventory in the Boumols'

inventory theoretic money demand? 2+3

27 BifEwl B 0 2 IENER L vifewl g
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What type of monetary policy is suitable to

curb inflation? How does that policy work?
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3. Answer any two questions: 10x2=20
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a)

b)
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Explain how discrepancy between short-run
and long-run consumption function can be
reconciled in terms of Friedman's permanent

income hypothesis.
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Explain, what accounts for the holding of both

money balances and various types of bonds by
an asset holder. How is portfolio balance
approach is an improvement over the
Keynesian speculative demand analysis?
6+4=10
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How does steady state growth rate arise in

Solow's growth model? Examine the effect of
change in growth rate when labourers are
technologically efficient. 6+4=10
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Write short notes on: 5+5=10
TR B (772 ¢

1)  Acceleration principle
RfGIR 929 o g
i1)  Money multiplier

L
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